GN 817-NI
DEH

A
e\ W
ey
Type B Type BK Typa C Type CK Type G Type GK
(with retracted fwith plunger (with retracted
phlunger) In rest position, plunger)
knob rotated by 90F
— d::‘ df\
et [TTET TRl Lo lds
| 1] il 1 il
v : = 1 H
' ool 1 e
t ]| i ;
o 5 el | L} i
i
K , ,
2 = OO0 D | QD
| l ']
_i— Il| I 1
Lock nut
—=d 1SO 8675
—-J d; L—
P i ERS PR S 2B
) di-0.02/-0.04 |1 min. d2 ds ds ds k I> Iz la Is lse A/F TiE BAER g
GN 817-4-4-B—-NI 4 4 M8x1 16 - = 14 35 16 5 - = 10 4.5 12 11
GN 817-4-6-B—-NI 4 6 M8x1 16 - - 14 35 16 5 - - 10 4 12.5 11
GN 817-5-5-B—NI 5 5 M10x1 19 - = 16 40 18 6 - = 12 5 15 19
GN 817-5-8-B—NI 5 8 M10x1 19 - - 16 40 18 6 - - 12 5 18 19
GN 817-6-6-B—NI 6 6 M12x1.5 23 - - 20 48 22 6 - = 14 6.5 19 32
GN 817-6-9-B—NI 6 9 M12x1.5 23 - - 20 48 22 6 - - 14 6 25 32

GN 817-8-8-B—NI 8 8 M16x1.5 28 - - 24 58 26 8 - = 17 8.5 26 68



http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html

R EdR ERT BEET EE

L] d1-0.02/-0.04 1 min. d> ds da ds k o Iz la s le A/F TFiE HKEH g
GN 817-8-12-B—NI 8 12 Mi6x1.5 28 - - 24 58 26 8 - - 17 85 28 67
GN 817-10-12-B-NI 10 12 M16x1.5 28 - - 24 58 26 8 - - 17 95 38 69
GN 817-12-15-B-NI 12 15  M20x1.5 33 - - 285 71.5 33 10 - - 22 115 40 117
GN 817-16—20-B-NI 16 20 M24x2 33 - - 285 785 38 12 - - 27 13 54
GN 817-4-4-BK—NI 4 4 M8x1 16 - - 14 35 16 5 - - 10 45 12 12
GN 817-4-6-BK—NI 4 6 M8x1 16 - - 14 35 16 5 - - 10 4 12.5 12
GN 817-5-5-BK—NI 5 5 Mi0x1 19 - - 16 40 18 6 - - 12 5 15 20
GN 817-5-8-BK—NI 5 8 Mi0x1 19 - - 16 40 18 6 - - 12 5 18 20
GN 817-6-6-BK—NI 6 6 M12x1.5 23 - - 20 48 22 6 - - 14 65 19 33
GN 817-6-9-BK-NI 6 9 MI2xt.5 23 - - 20 48 22 6 - - 14 6 25 33
GN 817-8-8-BK—NI 8 8 M16x1.5 28 - - 24 58 26 8 - - 17 85 26 69
GN 817-8-12-BK-NI 8 12 Mi6x1.5 28 - - 24 58 26 8 - - 17 85 28 69
GN 817-10-12-BK-NI 10 12 Mi6x1.5 28 - - 24 58 26 8 - - 17 95 38 71
GN 817-12-15—BK-NI 12 15  M20x1.5 33 - - 285 715 33 10 - - 22 115 40 151
GN 817-16—20—BK-NI 16 20 M24x2 33 - - 285 785 38 12 - - 27 13 54
GN 817-4-4-C-NI 4 4 M8x 16 - - 14 35 16 5 - - 10 45 12 12
GN 817-4-6-C-NI 4 6 M8x1 16 - - 14 35 16 5 - - 10 4 12.5 13
GN 817-5-5-C-NI 5 5 MiOxt 19 - - 16 40 18 6 - - 12 5 15 21
GN 817-5-8-C-NI 5 8 MiOx1 19 - - 16 40 18 6 - - 12 5 18 22
GN 817-6-9-C-NI 6 9  MI2xt.5 23 - - 20 48 22 6 - - 14 6 25 36
GN 817-6-6—C-NI 6 6 M12x1.5 23 - - 20 48 22 6 - - 14 65 19 35
GN 817-8-8-C-NI 8 8 M16x1.5 28 - - 24 58 26 8 - - 17 85 26 73
GN 817-8-12-C—NI 8 12 Mi6x1.5 28 - - 24 58 26 8 - - 17 85 28 71
GN 817-10-12-C-NI 10 12 M16x1.5 28 - - 24 58 26 8 - - 17 95 38 74
GN 817-12-15-C-NI 12 15  M20x1.5 33 - - 285 71.5 33 10 - - 22 115 40 125

GN 817-16—20-C—NI 16 20 M24x2 33 - - 285 785 38 12 - = 27 13 54




R EdR
L

GN 817-4-4-CK-NI

GN 817-4-6-CK-NI

GN 817-5-5-CK-NI

GN 817-5-8-CK-NI

GN 817-6—6-CK-NI

GN 817-6-9-CK-NI

GN 817-8-8-CK-NI

GN 817-8-12-CK-NI

GN 817-10-12-CK-NI

GN 817-12-15—-CK-NI

GN 817-16-20—-CK-NI

GN 817-4-4-G-NI

GN 817-4-6-G-NI

GN 817-5-5—-G-NI

GN 817-5-8-G-NI

GN 817-6-6-G-NI

GN 817-6-9-G-NI

GN 817-8-8-G-NI

GN 817-8-12-G-NI

GN 817-10-12-G-NI

GN 817-12-15-G-NI

GN 817-16-20-G-NI

GN 817-4-4-GK-NI

GN 817-4-6-GK-NI

GN 817-5-5-GK-NI

GN 817-5-8-GK-NI

d1-0.02/-0.04 |1 min.

4

4

10

12

16

4

6

]

o]

12

12

15

20

12

12

15

20

d>

M8x1

M8x1

M10x1

M10x1

M12x1.5

M12x1.5

M16x1.5

M16x1.5

M16x1.5

M20x1.5

M24x2

M8x1

M8x1

M10x1

M10x1

M12x1.5

M12x1.5

M16x1.5

M16x1.5

M16x1.5

M20x1.5

M24x2

M8x1

M8x1

M10x1

M10x1

ds

16

16

19

19

23

23

28

28

28

33

33

ds

M3

M3

M44

M4

M5

M5

M6

M6

M6

M8

M8

M3

M3

M4

M4

ERFT

ds

10

10

10

12

15

14

14

16

16

20

20

24

24

24

28.5

28.5

35

35

40

40

48

48

58

58

58

71.5

78.5

35

35

40

48

48

58

58

58

71.5

78.5

35

35

40

40

16

16

18

18

22

22

26

26

26

33

38

16

16

18

18

22

22

26

26

26

33

38

16

16

18

18

10

12

Is

4.5

4.5

50D

5.5

8.5

8.5

8.5

8.5

4.5

4.5

5.5

50D

ls

2.5

2.5

3.5

3.5

2.5

2.5

A/F

10

10

12

12

14

14

17

17

17

22

27

10

10

12

12

14

14

17

17

17

22

27

10

10

12

12

BRES
FE  BARER
4.5 12

4 12.5
5 15
5 18
6.5 19
6 25
8.5 26
8.5 28
9.5 38
11.5 40
13 54
4.5 12
4 12.5
5 15
5 18
6.5 19
6 25
8.5 26
8.5 28
9.5 38
11.5 40
13 54
4.5 12
4 12.5
5 15
5 18

EE

g9

13

13

22

22

32

37

75

72

77

151

10

10

17

17

29

29

61

60

62

11

11

18

18



NG S

PiH d1-0.02/-0.04 1 min.
GN 817-6-6-GK-NI 6 6
GN 817-6-9-GK-NI 6 9
GN 817-8-8-GK-NI 8 8

o]

GN 817-8-12-GK-NI 12

GN 817-10-12-GK-NI 10 12

GN 817-12-15—-GK-NI 12 15

GN 817-16-20—-GK-NI 16 20

Technical information
P73
AISI303 5N .

Wk

JEOEHEERE AISIB03 AN, BN LT AT & H8 HUEHIFLA .

PURIREE

AISI304 AE544 (JHT BK. CK 5 GK ) .

BIEET

r TR R B (PA) R ak, B, WL (B 5 BK A o M. Hlil, g U et

o

RICHRET
[ERUIEEE SR /RER R e ey

d>

M12x1.5

M12x1.5

M16x1.5

M16x1.5

M16x1.5

M20x1.5

M24x2

, B, WG

ds

M5

M5

M6

M6

M6

M8

M8

ERFT

ds

10

10

10

12

15

(C5CKAD o MR Al LS e .

AL PLUF AR AR S

-B AL T, LHURREE.
- BKAY: i T LUK AT,
-C AU T, BRI

Rt

-CK &Y. iR T RBURIERE, 75

BN T AR S

& 1SO8675.

1ISO8675.

48

48

58

58

58

71.5

78.5

22

22

26

26

26

33

38

8.5

8.5

8.5

14

14

17

17

17

22

27

BREN
FE  BAER
6.5 19
6 25
8.5 26
8.5 28
9.5 38
11.5 40
13 54

EE

30

30

62

62

64

135


http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html
http://njnicety.com/goods/show-999.html

BRSGRAEAT, DMER ) BT e T sl B S ALES ) e LS
-G M. TH{RIRE.
- GK Y. R,

FFIERE DL/

- BMRGEPAEEITRE (1)

-B 5 C RBPA/NRA] I

- HElRIREE (C A HBopal o

- IRGemE ) 1R E SR

A A TR C B A, ST E ARV KR B R SN A& . AEUBILT, i el T, Jf
KoM J5 H2h 90°, A BRI BORE 1, LABI g0 BERS i T (R sl R i R A 55 50

AN BATT P, AERFR B A L ARARANIRIE S A T Bad il SR 0 P 8 Tl LR AR T T, P BT 3¢
Fe YT Bz sk B ) 23 S A o



	本体
	销头
	锁紧螺母
	滚花捏手
	滚花锁紧捏手
	可供应以下标准型号 
	可供应的其它标准型号
	特征及应用

